
































-

ASSEMBLY

This lawn mower was partially assembled at the factory. To assemble your machine follow the below instructions.

HANDLE BRACKETS

Alignthe three holes in the upper handle bracket with the holes in the
lower handle bracket. Secure and tighten by using M8x20 bolts and
nuts. (See Figure 2)

e N

Figure 2

o @ M8 x 20

WHEELS

Assemble the four wheels by securing with four M10 nuts and
washers. ( See Figure 3)

Figure 3

| 0 M10

11 | Assembly

LOWER CONNECTING HANDLEBARS

Attach the short studs in the lower connecting handlebar into any
one of the three holes in the handle bracket. Align the lower hole in
the lower connecting handlebar with the hole in the bottom of the
handle bracket. Insert the bolts, washers, bushes and secure with
nuts. (See Figure 4)

The three holes in the handle
' NOTE bracket are for three different
handle heights. Quickly switch between the three
holes by unlocking the knob, adjusting and then
releasing.

N

Figure 4
)m w1 1Ol M8 x 35





















































